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Subject : GE_LQ01-Q10_PGTCHEM
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

entering a house,

saw a burglar

when the policeman
he ran and caught him

() (d)
(d) (a)
(ﬁ) (d)

) (©)

o
p—
—

=]
R
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Options:-

.1, Option ID :- 1,
« 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

(1

2

©d

(2)
(3)
(4)

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Why did your friend write such a nasty letter to you ?

Why such a nasty letter was written to you by your friend ?
Why is a nasty letter written to you by your friend ?

Why a nasty letter to you was written by your friend ?
Why was such a nasty letter written to you by your friend ?

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Fill in the blank with the correct preposition.

The wheel came the vehicle when it was negotiating a dangerous curve.
(1) out

(2) of
(3) off

(4) from
Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

Choose the correct tense form from the given options.

I had finished my exercise when my friend came to see me.
(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect continuous
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
“I always take a cup of green tea in the morning,” my father said to his friends.

(1) He always took a cup of green tea in the morning my father told his friends.
(2) My father told his friends that he always took a cup of green tea in the morning.
(3) My father told his friends that he had always taken a cup of green tea in the morning:
(4) My father told his friends that he has always been taking a cup of green tea.
Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6
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Identify the part which has an error in it.
She discovered / to her horror / that she swallowed a fly / while drinking tea.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
« 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Iden[-ify the word nearest in meam’ng to the given word.

DERISIVE

(1) quarrelsome
(2) disdainful
(3) abusive

(4) decent

Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Identify the word opposite in meaning to the given word.
MITIGATE

(1) foat

(2) increase
(3) reduce
(4) expand
Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9
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Identify the Part of Speech of the underlined expression.

Students should not while away their time in frivolous activities.

(1) Adverb

(2) Verb

(3) Conjunction

(4) Pronoun
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

Hurrah We have won.

What punctuation mark should be used after “Hurrah” ?
(1) Colon

(2) Mark of interrogation
(3)

(4

Mark of exclamation
Semi-colon

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTCHEM

Question ID:- 11

Frefafes T 1 orryds Tge SaW 2| 9ee w1 TE S e

TuER 73§ e =1 fae ve € 1 fam" Suen -3 F S 1 U UYE S O & € W € e
ST SRl sl Y I © | SRISHTR ek 3794 USHIR i qeret & forg, Tefoml 799 aeie & 7%y
TeTell = F o aTrEvae Sl & famraE! 1 o S € | et T an-ay % SugeE W i aww
1 HeAE Tae € | S A1 et i ST e I SUHTE qe Tgar | fasd ¥ werar e €

SRS 9 3777 TSR 1 qemyl & fore =21 =3 €2
(1) TSR e S € |

(2) HIHRE THER h TR A © |

(3) TEYH THER TEd €|

(4) TEER-IH % foR ued €

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
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. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

frefafag Teie # SAyds T SN SHifia U &1 Hel S Sife

=R 93§ o= =1 fas ve § | fomrs SueR-E F S U UYE S o § € W & o
311 SRl sl o YU I © | SRSHTR Faeh ST USHIR i qelret & forg, Tefori 797 aeie & o7&y
Tetelt T o foTu eTevae Syl & fammael &1 eny e € | [ 9 at-ay % Swge gt 1 e
=1 "reay famra # | SR Sraerdt 6 ST IeUIg 1 SUNEd a9 ga 3 fawe @ wer foert 7

femmo Frfofaa o & Fraet snevasmast i qu @ # €2
(1) SRISFR g5

(2) feit

(3) foame 9ra gas-gafadi

(4) TR SAferemf

Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13

Frafafas e 1 eyEs Tee SUW S J9F & TEl S Eife

TR A § fomrs = fasm vee § | fomrs TueR-ua 1 o 1 U UgE E o § € W § e
317 STaTehdiel sl ff Y T € | SRISHTR ok ST USHIR i qeiret & forg, Tefomi o797 aeie & o7&y
Tetell T % U eTevae SuHil & fammaei &1 ey Seid § | fqare 2 at-ay % Swge et 1 e
=1 "reay famra # | SR Sraerdt 6 ST IeUIg 1 SUNEd a9 ga 3 fawe @ wer foert 7

freafafea § 9 W w779 oW 2
(1) TSFIR - SSFTR
(2) HAMETh — ATEIHh
(3) SUEH - ST
(4) TEHA - HER
Options:-
.1, Option ID :- 49,
. 2, Option ID :- 50,
« 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49

Question ID:- 14
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Treferfad ey # saryEs Yges S Ui wee w1 el S difem

AT oSl o oo o1 ferdt e & 1 forsros Sor=m- o #Y o1 w1 U W Ed & @ e & o
3T STavFaRdIeii 1 o I HA € | SRSHIR Jae 379 ST i e = oy, Tefir oo+ o9 # o7&y
TEEel T <k foTt sTereses STl & fama| &1 oy 3ewd! @ | faam Ara st-a¢ % 3uge Hie & qell
%1 e faqmes € | S = Sy #1 ST 3cTE I ST q Ygar | fomren 8 werr faerd g

T ST9 TSI o SFEY SAEYHF SUFI o foawme i qE € 2
(1) = SEvdsHdl & fau

2) TEEd = % fau

3) fo=m =1 %M w4 ¥ fog

4) T EE W EEE wie % fae

(
(
(

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Treafafad T &1 SIYEs Tees S IR 99 &1 FEl S g

TR 3§ fomra =1 fas vee @ | fomrd Tuen-ua o 1 U ugE w9 € € W d e
=1 STEvRAIel sl off JU S § | ISR a9 TSR i 76 & fag, [efimi e o & s1gey
Tewelt A % T ST SUHl & famraHi & ey 33 € | faane 9r a-ay & Sugaa el 1 qaw
1 Wz faRe € | S A St Wy ST 3edE w1 SUNTE 9% qge o fawee ¥ wewr faerd ¥

Tefirat fore e % fasmaAl 1 el St § 2
(1) T v g

(2) SEYIE ITH HaEt
(3) IS = Feel

(4) F-HaHl

Options:-

.1, Option ID :- 57,

« 2, Option ID :- 58,

« 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16
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(2)
(3) fa=m dra - St
(4)

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

GET IT ON
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Question ID:- 17

Treferfaa # ferge sy amen g 781 €

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Trafafaa 5 o ves 78 2
(1) &
(2) =M
(3) dc®
(4 ¥R
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19
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1) 3<H
(2) S
(3) =l
(4) HFHT

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

GET IT ON
Google Play

Question ID:- 20
Trefafad § wedam =i gfe § o5 @ -
(1) sIfe=a o= - 9

(2) Troem g - =

(3) TEwETEE - H

(4) HegEEH - Sl
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTCHEM

Question ID:- 21

Which of the following states in India does not have a bicameral legislature ?
(1) Bihar

(2) Maharashtra

(3) Andhra Pradesh

(4) Madhya Pradesh

Treafafea § | vyd & 9§ T ¥ fgged faurysa 7= 872

(1) fo&r

(2) HER

(3) iy Y=

(4) HH Y
Options:-

.1, Option ID :- 81,
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. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

Assertion (A) : The Government of India adopted the “waterfall’ framework for policy making
during pandemic induced uncertainities since 2020.

Reason (R) :  The “waterfall’ framework is a flexible approach to policy making which uses
feedback loops and real-time adjustment.

Choose the correct answer from the codes below :

(1) (A) is correct but (R) is wrong

(2) (A)is wrong but (R) is correct

(3) Both (A) and (R) are correct and (R) explains (A)
(4) Both (A) and (R) are wrong

MUK (A) :  9RA WFR 7 HeMN ¥ Io9=1 AFf=asl & SrE ad 2020 § Hifd a9 &% fag
‘ST THEh | ST |

T (R) : ‘aretETe WHa s HAifa A % forg uw el wgfa € S wieds g0 S
{2130 gaEsE &1 34T foa S 2

9 fou 7 %z F WE W H =9I HI

(1) (A) 5@ 7 3iR(R) 7o &

(2) (A) Ted @ SR (R) 58 7

(3) (A) I (R) SHI Tl § 3R (R), (A) i =@ §

4)  (A) S (R) EHT e §

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Which of the following kingdoms was not annexed by the East India company under the "‘Doctrine
of Lapse” ?

(1) Jhansi

) Mysore
)

)

I

(
( Satara
(4) Nagpur
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T8 2fem St BRI ‘eey Hifa’ % aed fre st o siferier W feran e an 2

(1)
(2) R
(3) HARI
(4) TR
Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Which of the following statements about mineral resources is incorrect ?
(1) Copper is ductile and a good conductor of electricity

Aluminium is obtained from a clay-like substance called Bauxite

(2)
(3) Tinis a Non-Ferrous mineral
(4)

Hematite is the finest iron ore containing iron upto 70 percent

g7 el & °) H frefatad § 9 #F 91wy w6 T8 ol

(1) e weree € IR faga &1 g &

(2) UegHifeE, ateEEe A gt S uee § Wrd g6 ©
(3) fo7 o R A Efe §

(4) THERES UH S wig 7%k © foed 70 ufoed oiel 2 ©
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25

The Limited Test Ban Treaty (LTBT) signed in 1963 banned nuclear weapon tests
(I) Only in the atmosphere and outer space

(2) Only in the outer space and underground
(3) Only in the outer space and under water
(4)

4)  Only in the atmosphere, outer space and under water
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. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Hifa gdiemn wfasy @ (wa 2 &t 2, Toew 1963 H g&mer fou 7w 9, qeam] sfemm & gdiem 1

o yfaefed st 21
(1) <had IgHSE AR e FaRe
(2) hae TR Hafie s T
(3) haw @@l Hafe R U % T
(4) HAS argHed, @l siafie R uE % A=
Options:-

.1, Option ID :- 97,

98,
99,
100,

Answer Given:- 2, Option ID : -98

GET IT ON
Google Play

Question ID:- 26

.1, Option ID :- 1

fo]lowing which metal is more reactive ?

Y FH G urg e wfafwamia € 2

Among the
(1) Copper
(2) Iron
(3) Zinc
(4) Gold
Frfafed §
(1) e
(2) @@l
(3) fSi=
(4 =
Options:-

01,

. 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

Which of the following is not present in the cytoplasm ?
(1) Mitochondria

(2) Golgibodies
(3) Ribosomes
(4) Nucleus
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el 2o § frerfafad o 9 = sufted 7= 21 22
(1) wERg

(2) et A

(3) VESHMA

(4) H=F
Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

Who among the following players won the FIFA World Cup 2022 'The Golden Ball’ Award ?
(1) Kylian Mbappe

(2) Cristiano Renaldo

(3) Lionel Messi
(4)

4) Neymar

FIH F¢s &Y, 2022 § ‘Tieed did’ &1 R Fefated § 9 fmg faarg | s ?

(1) =Ffea Jerd
(2) Torfeear Al
(3)  ferar et
(4) IR

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar’ 2022 in Sindhi
language ?

(1) Geeta Pradeep Rupani
(2)
(3) Monika Panjwani
(4)

Kirti Pradeep Rupani

Heena Aswani
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et s o ‘e stepredl Far ger’ 2022 frefafas § 9 form o A s ?

(1)  itar w&ta i

(2) ohifd &g &

(3)  HifeRT dsfamoit

(4) BT FHART
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Which of the following computer languages uses mnemonics ?
(1) High Level Language

(2) Machine Language

(3) Assembly Language

(4) C Programming Language

frafafeg § 9 oF O Frge oes  fedifes’ = Jbm Fd & 7

(1) X o= das

(2) HEA oiEs

(3) STETEE TS

(4)  HI GrfHT ofvEs
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : RA_Q31-Q35_PGTCHEM

Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given letter - cluster series.

HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM
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Ty wa! foremed =1 =2 &l Sl &1 T HER-FHE 4@ H 54l Ued %l S W AR 9w fow (2) % =E o
HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

Six friends Anuradha, Abha, Manisha, Monika, Rashmi and Sulekha are sitting around a circular
table facing outside the circle (not facing towards the centre). Anuradha is neighbour of Manisha
and Abha. Anuradha is sitting third to the right of Monika and is second to the left of Sulekha.
Manisha is sitting third to the right of Sulekha.

Who is sitting immediate right of Monika ?

(1) Sulekha
(2) Rashmi

(3) Manisha
(4) Abha

TE Tefarr, e, a7y, W=, Hifen, 1 ik gorar U aer 591 % 91 S (WS % 65 6l dAR H8
7 FTh) AR I 3T HE Hleh o € | ST, FA1 SR ST T TS § | ST, Hife & Sei SR e
T W IR HorE! % R S gE WM W AS g8 § | WA, oren o gl SR di T W S g8
i1 % UHeH ST AR HH FST 1 ?

(1) v
(2) Wm
(3) wAm
(4) 9
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33
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"B’ is to the North of ‘A’ and to the West of ‘C’. In what direction is ‘C" with respect to ‘A" ?

(1) North-East
(2) North-West
(3) South-East
(4) South-West

BAFIHHE A CHF IR ITC, A H TR e &2

() -
(2) J-ufv=H
(3) feor-gd
(4) fero-gfe=m
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

You are given a question and two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question.

Q: Ayush and Ranjan are standing at a distance of 20 km. They start walking towards each
other. After how much time will they meet if they keep walking ?

(I) : Ayush and Ranjan walk at the speed of 2 km/hr and 3 km/hr respectively.

(IT) : The speed of walking of Ayush to Ranjan is 2:3.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer the question.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.
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=1 we e e e @ fosh a1 e (1) @R (1) fou e @ o ueis § g senl € ') 9w fok
HIfST o i TV F97 T FH1 SR 4 & o0 v3ta 2% 2

Y: g AR I5H 20 TR 1 g WEE ¥ 19 T G5 I SR Fe I $d © | Al S =5er S @
dl forde 994 =g U gal ¥ fHedd ?

(1) : =y IR 9 ween: 2 /A, iR 3 fe A i afa § 9o €)

(I1) : g 3 IS =0 HY A 2:3

(1)  3Tehel HIF—(I) B 9 1 I &7 o Tl 9T § Siaieh afehel FheA—(I1) T99 1 I < o fag e
T 7

(2) @Thel Y- (11) T 9T 1 I A & T yaid ¥ Sefe TR weE-(1) 999 o1 3T 8 o fae ga
Tl 8l

(3) HA-(I) 3R FHU-(I0), S G et Ue &1 S gA o e

(4) A1) 3R FeH-(I0), SF1 w e of wom &1 S < & fog vafe @ )

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 1, Option ID : -133

Question ID:- 35

In the following figure, the square represents lawyers, the circle represents judges, the triangle
represents girls and rectangle represents honest people.

14

\
\ 8\ 15
9\ 13

20

Which number represents girls who are lawyers and honest but not judges ?
(1) 8

2) 12
3) 14

(2)
(
4) 15
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frafafaa swg 4, ‘o’ T @1, ‘ga’ oo o, (e aefEdl @ ol ema’ sameRr @l @
yfafafee @ #

10 14

N
6 12\ 8\ 15
9\ 13

20

FH T g@ 3 TR #) guidt 8 ot aehia o urer € g o e €2

() 8
2) 12
(3) 14
(4) 15
Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCHEM

Question ID:- 36

Gagan Sen is planning to buy a new smartphone, which one of the following aspects should he not
be bothered about ?

(1) Operating system
(2) Ethernet Port

(3) Internal Memory
(4)

4 Camera Pixels

T T T T4 HERA Wi i s o1 @ ¢ | 34 Fefafad § 9 feg gee & o fHa 981
=gy ?

(1) ST faey

(2) 3L UR

(3) EeEe HHER

(4) % fgwma
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,
. 4, Option ID :- 144,
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Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
on a PC/a laptop ?

(1) Ps2
(2) USB
(3) VGA
(4) HDMI

Toredl oY &t / 9y W 2R Farfae! siffed-aifedl S3ey2 ol #ge & & fau Gaifter Iuge 9 i @
§7?

(1) Tt TH 2 (PS2)

(2) 4 T§ s (USB)

(3) @ St T (VGA)

(4) wH €l ME (HDMI)

Options:-

.1, Option ID :- 145,
- 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

is not a basic function of MS Excel.

(1) count()

(2)  sum)

(3) min()

(4) multiply)
—@@E@HWWW(fmtﬁon)ﬁ%I
(1) count()

(2)  sum()

(3) min()

(4) multiply()

Options:-

.1, Option ID :- 149,
. 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150
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Question ID:- 39

is the file extension of an Excel file ?

(1) excel

(2) xel

(3) xlIsx

(4) xelx

fordt T wEE %1 wEd faEr (file extension) =/ g7

(1) excel

(2) xel

(3) xlIsx

(4) xelx

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

GET IT ON
Google Play

Question ID:- 40

Which of the following is not an example of RDBMS ?

(1) MySQL
(2) ORACLE
(3) CALC
(4) IBM DB2

Frafafaa § 9§ %M 91 R 2t df U7 T (RDBMS) &l U5 3a8l0 T4l ¢ 2

(1) MySQL

(2) ORACLE

(3) CALC

(4) IBM DB2
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTCHEM

Question ID:- 41
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The ‘cephalo-caudal’ principle status that development of the body spreads from :
(1) legs to head

( heads to legs
(3) the center of the body outward
(4) outward to the center of the body

‘Tathen wied’ fagia 78 adm © % ik = fawre A A
(1) TF far = aix

(2) TERE Wl &R

(3) YR % HeA { Al Hl AR

(4) @B H YR % HEA i AR

Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

In the context of puberty, which one of the following is an absolutely correct option ?
(A) Estrogen and Progesterone are female sex harmones

(B) Androgens and Testosterone are female sex harmones

(C) Entrogen and Progesterone are male sex harmones

(D) Androgens and Testosterone are male sex harmones

(1) (B) and (C) are correct.
(2) (A) and (C) are correct.
(3) (A) and (D) are correct.
(4) (B) and (D) are correct.

a‘ra?riwém"q'ﬁﬁ frefetfian § & v famed foegel w8 §72
) TEIH AR W He 99 e ¥

(B) TEIoH #iR TR HIeT Herd g §

(C) TUZIeH 3R YoM R Ja A &

(D) UEeH 3R TRl X o gHi €

A A
o =
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Options:-

.1, Option ID :- 165,
- 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

A teacher observes that his students are taller and heavier than before. On the part of the students,
it shows their

(1) growth

(2) maturation

(3) development
(4) morphogenesis

T AAUF I8 oEFd1 & 5 SU% D19 Usel Fl STUsT @d 3 gSHeR 81 2 & R 9 98 R/

% TIAAT T
(1) Ffs
(2) 9RYgEH
(3) forprm
(4) HEAI-fasRE
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

Which of the following is the correct options ?

(1) Learning and maturation are two processes through which growth occurs
) Progress and maturation are two processes through which growth occurs

(3) Maturation and learning are two processes through which development occurs
) Development and learning are two processes through which maturaion occurs

Frefafaa § & #m-a1 fawreg Tt €72

(1) e 3R uftyegs < ufsrand € fomer weom | gfg Bt 2
(2) wIfa SR uftgeer & wieard § e mem 9 gis 2 7

(3) uftaFas iR siferm < wiskard € fomeh mreem | fosm 2 2
(4) Tam iR stfm S gfsrand € foee wream & aftaesd 2 )

2

Options:-
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.1, Option ID :- 173,

. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

Which one of he following studied the child’s responses to moral dilemmas ?

(1) Piaget
(2) Erikson
(3) Kohlberg
(4) Skinner

Trefafaa 9 9 feaA e &1 s gfawssi o gfafen =1 sreraq e ?

(1) s
(2) uREEA
(3) hretE
(4) &R
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46

The cognitive aspects of the personality of an individual do not include his/her :
(1) motivation

(2) thinking
(3) attention
(4) perception
Tt =afe & =afaaes % Farcds Yo § SEHt wfHe & &1
(1) Ao
(2) fa=m
(3) AU
(4) YoI& WY
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
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. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Read the following :

(A) Among boys and girls, different parts of the body grow at same rate.

(B) Among boys and girls, same parts of the body grow at different rate.
(C) Among boys and girls, different parts of the body grow at different rate.
(D) Among boys and girls, same parts of the body grow at same rate.
Which one of the following is the correct option ?

(1) (A) and (D) are correct.

(2) (B) and (C) are correct.
(3) (C) and (D) are correct.
(4) (A) and (B) are correct.
Trfafed =i ufeu

(A) e AR wefFE # iR & fum-fa= o o & ) W faswfaa B §
(B) wehi AR el H, v & waw i fu=-fu=s e w fasfaa €n €
(C) el IR wrefrai #, YR & fumr-fus e famr-fam g w fassfaa @ &)
(D) oISl IR Tefrdl #, I & quM 371 ¥ X 1 fowiad 2d €1

Treafafaa 4 | sF o faskheq W&@T 2|
(1) (A) 3R (D) W&l 21

(2) (B) ¥R (C) W&l &

(3) (C) 3 (D) wdl €1

4) (A) @R (B) &I §1

Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Pre-school children trust on their parents as a secure base to explore the environment. This shows

their .

(1) cognitive development
(2) social development

(3) emotional development
(4) moral development
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Taramera-gd areres arareRyl &1 WisH o o 79 Jid- faar 9w guferd R % &9 | favas & 81 98
FTHT I §1

1)  HAcHS foehd

(

(2) HHEIS forepg

(3) HEATHS faehd

(4) Ao fawm
Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

A teacher gives a problem to adolescent students that “Xis taller than Y, Y is taller than Z then who
is the tallest’ ?

This teacher expects that this problem

(1) is too easy for the students as it requires symbth thinking

(2) cannot to be solved by the students as it requires critical thinking
(3) can be solved by the students as it requires abstract thinking

(4) should not be given to the students as it requires concrete thinking

T AL TRviR BTEi 6l Th Y adl 6 T ‘X, Y H &1 & AR Y, Z | a1 &, d Had a1 & ¢ 2
g SFATIF A F ® 6 7w w

(1) BHE & fau FT6 M & #ifs 356 Adiacas Haa & seawsd g1

(2) O R EA TEl A S Hehel ik §HE T eAeiras fHaT H Savshal 2

(3) I gRI g foban S Wehal & Hifer g9 fow s1d foaw =i svavasal ¢

(4) B e fea S =fen, s ok fore g feiae 1 smavasar €1

Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

in case of adolescents, the peers, parents and teachers have no influence on their :
(1) social development

(2) cognitive development

(3) physical development

(4) emotional development
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Tereiti o wT9et #, Teutfadi, Ara-Tud 3iR 19 #1376 T FE §9E T8l TS B
(1) =S fererm

(2) HIAARHF fasmmE

(3) vRifR fa=m

(4) WrEATHE famrd
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

The word adolescence has been derived from the word “adolescene” which is a :
(1) Latin word

(2) Greek word

(3) Japaneese word

(4

African word

‘A v F W TS g Sl T R U 918 B
(1) e

(2) W

(3) e

(4) TR

Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

The socialization agents support an individual in :
(1) learning

(2) confirmity
(3) communication
(4) growth
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HTHTSIRL0] i ferdl =afem =t ¥ TEEdl 3 ¢ |
(1) stfermy

(2) SAZEAd

(3) Hym

(4 dfg

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Socialization helps an individual in establishing his/her :
(1) self-identity
social identity

(
(
(4

2)
3) group image
) community identity

TSR frdt = S SHH/SEH w1 T H HE™al Ll & |
(1) =-9g=H

(2) HmEIfSF B

(3) wEBH

(4) HHE TEEH
Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

‘Shiksha Karmi Project’ of Rajasthan is :

(1) the name of professional development programme of school teachers

(2) concerned with identifying outstanding contribution of school teacher in education

(3) scholarship programme for meritorious pre-service teachers
)

(4) a way to ensure community participation in formal education
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TSy i foren e ufesEn €

(1) Ehell ATl & G9ER faeE FEws 1AM

(2) T § =pa APTE & IR ANCH H UgaH w1 H Hared
(3) HHTEl Fal yd HeAThl  fau sEEid FwEEs

(4) o= foen § e @t ariierl gifEd S o uE ol

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

In India, home schooling is recognized by :

(1) NIOS
(2) CBSE
(3) 1B

(4) ICSE

aRd § = foven €9 (8m whici) 1 foreeh g1 9Tl U i S © 2

(1) TA.37E. 3L,

(2) HiELTEE.

(3) e

(4) SARHLTHE.
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PGTCHEM

Question ID:- 56

Which of the following statements is not true about curriculum ?
(1) Curriculum is a complete set and very broad in nature.

Cuarriculum includes the planned and guided learning experiences.

(2)
(3) Curriculum is descriptive in nature.
(4)

Curriculum is framed by high level educational experts.
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=l & a9 § ST 91 YT 98 e § 7

(1) "eT= UF Hyvl §2 & 9 fasga @ey # 2

(2) weFEE H dees SR e sy srqva nfea 2 2
(3) TREEAl AV TR A ¢ |

(4) UEHEAl I R o feren faiovil gRI dAR fohan e 2 |

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the following is not commonly used approach for curriculum development ?
(1) Subject centred approach

Community centred approach

(
(
(4

2)
3) Child centred approach
) Life centered approach

areg=al faem o faefafes § & =9 & 5oem 1 i © g el feman s @ 2
(1) Taw=-hfza sarm

(2) HHEE-hi=d UM

(3) @ei-hi=d SIH

(4) SfE-hf=d SqrH
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 4, Option ID : -228

Question ID:- 58

Which one of the following is the key to Competency Based Education ?
(1)  Acquisition of skill (s)

2 Learnjng at one’s own pace

S5}

(2)
(3) Immediate feedback
(4)

4) Mastering learning
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Trefefad o | o e sefed fan = fagr § 2
(1) =Ie S

(2) *=E &l A H HE

(3) A Tigd®

(4) HEORT AT
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

‘ Assessment as leamjng ‘is:

(1) TPartially teacher controlled
(2) Entirely teacher controlled
(3) Partally student controlled
(4) Entirely student controlled

‘arfar & B H AeRdA | ®

(1) S1ifSer ®9 § s e
(2) qURrEn SAeEYeR % Tt
(3) Hiferr w9 4 B e
(4) guiTEn B AR
Options:-

.1, Option ID :- 233,
- 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

Which one the following can be most useful in developing a habit among children to search from
new knowledge from the familiar environment ?

(1) Text book

(2) Integrated text books
(3) Exposure to ICT
(4)

4) Exposure to real life situations
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BEI g/ ufif=d Sy | Wd T 99 9 @S 0 61 e fawiad e 1 f=fafea 9 9 9 weifas
SYART &2

(1) WgA-J&%
2)  Hhferd eT-gEeh
3) 31 Hi I i SR

(
(3)

(4) arEfaes Sfia #1 fEafal =t s
Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Main limitation of Computer Assisted Instruction (CAI) is that :
(1) Itis a self learning technique.

(2) It uses mix of text, graphics, sound and videos.

(3) Its learning is too mechanical.
(

4) it provides immediate feedback.

Frel e e (H T eg) wi 9o @ 7E © 6

(1) 7% U% G-frm T T

(2) uB e, Wik, | i dfifea & g =1y #ta 2|
(3) TH STferTH STl YT €

(4) Fe dehTel Higsh YSH il 8|

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

Which one of the following is not a characteristic of a teacher made test ?
(1) Norms are available for comparison.

(2) Helps identifying learning difficulties of pupils.

(3) Can contain {variety of items.

(4

Covers limited number of competencies.
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Trefefed | | = steages ffda odiem w1 wer fama & 8 ?

(1) g & foae gmede Suas €

(2) Bl i Al GeiEl HwiSAEAl hl TEEAE HE H HHd Rl § |
(3) TEH *E WE % Y wfmfead & wed 7

(4) Hifed 90 | drEdr S FHeT B § |

2

Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

Which of the following may not be a part of strategy for preventing indiscipline ?
(1) Adoption of task oriented approach

(2) Provision of a long list of restrictions which you expect to maintain
(3) Evolving rules through discussion with students
(4) Praising/ Appreciating students for their good achievements

Freafafes 8 9 0 SR 9 999 % WHEITT T T T8 ¢ 2
(1) =EFE SYETH 2 SO

(2) wiasH =t T e gE ey S S e ed §

(3) BT o WY == HLeh A T

(4) S A TS IUATSA o TAU ITh! TR LA

Options:-

.1, Option ID :- 249,
- 2, Option ID :- 250,
. 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

Which of the following classroom practice is not an outcome of Behavior modification approach?
(1) Repetition without reinforcement does not enhance learning.

2) Punishment is very effective for eliminating undesirable behavior,
3

(
(
(4

)
) Interest in work and improvement is conducive to learning.
)

Variations in presenting the reinforces help modification of behavior.
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Trefefad | | o df e o =esRr uitEdy UM & U IRy T8 ¢ ?
) Ao % fae gl 4 srfem d 9fig @ a2

) HAABAT HGER F U FHA F AU S FR g9Et 7

3) @ H & AR gur s & fau wemees g B

) Yreier S H Sgelre | SRR Yited § W e g )

Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

Which is not a characteristic feature of course delivery in ‘teacher centred approach” ?
(1) Use of lecture method

(2) Summative tests

(3) Active learning
(4)

4)  No unit planning and unit test

‘ sy g surm’ # fawe qgm o, we =i o, e o 6§

(1) = fafy = g

(2) AFTIHER GLE

(3) @ saftrm

(4) IS THIE I SR g1 gremr A&
Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

Read the following carefully :

(a) Students are working individually or in small groups.

(b) They are busy analyzing the identified theme within a pre-set time limit
(¢) They are dealing with ‘real life” problem.

Which method of teaching-learning is being followed ?

(I) Problem solving method

(2) Project method
(3) Discovery method
(4) Play way method
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Prefefian =1 Sy e ;

(a) B ARG FY G 21991 S H98 W HH W W T

(b) & e foua-a%g 1w qa- Mg qag-a & Wiat favemor & o =55 § |
(c) d ‘arfiass Sitad’ whi Ees 1 HHT R ©
foreror-arfermar =it %= & fafer stoardt s @ ® 2

(1) Fg=-garaE fafy

(2) ufEsE fafy

(3) @ fafy

(4) w4 fafy
Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Which of the following restrictions will not be effective in making an essay type item as restricted
response item ?

Restriction to be imposed on :

(1) Length of response

(2) Content of response
(3) Duration of response
(4) Convergent thinking

s Feiueas 9ed il U it gfafsn wes 99H 4 $i9 § gfasy gamet T8 8 ?
widsiy fore 9 e s ?

(1) wfdfsran = eaE

(2) wfdfsan =t favg-ag ™

(3) ufafsean =1 aafy .

(4) ARER fo=e W

Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68
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Which one of the following is not a characteristic of “integrated teaching” ?

(1) Flexible student groupings

(2) Inflexible schedules

(3) Sources that go beyond textbooks
(4)

4) Relationship among concepts

Frefafaa § 4 =5 o ot faemr’ #i uk fobm =& 2 2
(1) or=ien 371 T8

(2) IR T

(3) T § T EHA

(4) HehouTed o o= Hay

2

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69

In the final analysis, the key to motivation in classroom is :
(1) The interest inherent in the subject matter

(2) The teacher’s personality and his/her teaching method
(3) The emotional climate of the classroom
(4)

4)  The suitability of curricular experiences in the class

sifm fagemm #, wan # SR =t g= $e © -
1) Towm-asg d sfaffea &4

(

(2) rEATTe w1 SAfeRiea 3T Swen! farerm fafy

(3)  HET T WSS TR0

(4) Re H U= Wl S Al i ITgEd
Options:-

.1, Option ID :- 273,
- 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70
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Aptitude Tests measure :
(1) Potentiality
Proficiency

4

(2)
(3) Likely success in a profession
(4) Achievement

el adetor 99 ©
(1)  Hyread
(2) WAl
(3) Terdil et H Hufad gwer
(4) W\
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCHEM

Question ID:- 71

By following, which one of the actions, a school can act as a ‘learning resource’ for community ?
1) By organizing educative movie shows in community

2) By nominating teachers as members of all local civic bodies

3) By organizing ‘discussion camps’ on social issues in community

4) By inviting community people in science exhibitions in schools

= 4 4 form T &1 19T, U Sha 9He@ o fon ‘ siferms &ia’ o7 dehar 8 7
(1) wgem H Siferes fhew ot s e

(2)  Hit T TRl | foeeh] o AT sk

(3) WY H HASF Hgi W == g’ A Fih

(4) HHE % Al Sl e H fagr del § e s

2

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72
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How a community can contribute best to school as a ‘learning resource’ ?

(1) By selecting its best persons from all vocations to interact with students and teachers
(2) By effectively participating in P.T.A. meetings

(3) By donafing' generously for school development

(4) By providing free of cost, best technicians to build school labs ?

s wer Taened = eifirm Eia’ % w0 ° e R yeR E wdar e ?

(1) =it sreEE @ g @ Fafta # faenfeEr o) faemnt % @y STt sfatE ga
(2) &AfTEs ToeT gl § gHrel Ariiert g

(3) TEA < fawr g IR Yo T T

(4) Fha &I WIS i 99 2q :9ck A5SaH Tehdih] Al ol Soht

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

As per WHO which one of the following is not an indicator of sound mental health ?
(1) Sense of Coherence

(2) Optimism
(3) Sense of Control
(4) Confidence

fove T e % FUR 3F= HHTEE TR 1 A 91 A0 a2 2
(1) gHfa =1 593

(2) HARMER

(3) = i wHE

(4) HATcAfITEH
Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74
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How many types of disabilities have been identified through RPWD Act, 2016 ?

(1) 18
(2) 19
(3) 21
(4) 23

3R Wi 257 21 W (RPWD) 2016 - fohad WahR &1 stapqansii =l s 2

(1) 18
(2) 19
(3) 21
(4) 23
Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
- 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

Which one of the following member of school development planning committee is likely to contribute
minimum ?

(1) District nspector of schools

(2) Manager of an adjoining industry

(3) Parents of school children
(4)

4)  Professors of a nearby college

e fasmm feism afbf &1 f= 5 9 #9995 9§ 998 &0 ArEE & §9EE § 2
(1) e faemem fAdes

(2) Tehe o M F Ya9F

(3) Tl I=al o ATIES

(4) T2 & weIfaaeTd & Yhel
Options:-

.1, Option ID :- 297,
- 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 76
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Which one of the following can provide a good school leadership ?

(1) A teacher who has a mastery in communication
A teacher who involves learners and seeks their partnership even in teaching

(2)
(3) A teacher who recently passed a course on school leadership with distinction
(4)

4) A teacher who was elected as president of teacher association

4 4 9 SF-91 U Thal & 952 19 YSH W Hhdl § 7

(1) e foreqer =i wow # g5 §

) U foieres S siferAERdisl Sl YFTIGRT S ® SR 3% foern e o off wnfia e
3) U e o ore § @ e Tga W e Fraa | qreemen a fee €

4) U foregen S foreren afog w1 sere I T

(2
(
(

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the present school scenario which role is generally not expected from a school teacher ?
(1) Curriculum designing
(2) Reflective practitioner
(3) Team builder and initiator
(4)

4 Coach and mentor

AT T i gl 8 g e o F e vyt #i e e 3 sren 78w S €2

(1) = i
(2) o= gl 7 &
(3) W FAMI 3R FHAT HL
(4) E AR IATE
Options:-

.1, Option ID :- 305,
- 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78
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The best role of a school teacher as a coach is reflected in the act of

(1) Curriculum planning

(2) Preparing students for examination
(3) Story telling
(4)

4)  Evaluating student’s performance

U FE & B9 H AT w geay i frad feadt &2

(1) == FEi |

(2) B0 I Wi T AR wH F
(3) e g |

(4) B i o o gediT H
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

Ms. Nair, the language teacher was told by her Principal, "Our education minister has come through

this new technique of evaluation and he wants us to implement it immediately.” This is an example
of :

(1) Demonstration Model

(2) Grassroot Model

(3) Administrative Line Staff Model
(4) Activity Model

e foerer g off AR 1 39 g A e, wER fen d5 ) geiea 1 39 =6 fafy o v =en € s d
=Ed ¥ o5 &9 38 dehtel oF] i | I8 FRee Semi € 2

(1) &9 Sfa9H =

2)  edetd gfaHE

3) e W gfamE @6

(
(3)

(4) Tfafafy gfqem =1
Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80
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The most suitable stage to develop analytical and critical thinking among students is :
(1) Primary level

(2) Middle school level

(3) Secondary school level

(4)

Senior secondary school level

B § faveraoedes qen gameraAds e fasrfad # 3g gaifees Sugs TR Fn e ?
(1)  wufer Bhe &1

(2) fafed &a ww

(3) AN THA &

(4) ds HEAHS Thel &R

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : CHEM_Q81-Q180_PGTCHEM

Question ID:- 81

Arsenic (III) sulphide reacts with oxygen to form arsenic (III) oxide and sulphur (IV) oxide :
_As, 5, +_ 0, —» _AS, 0, + _SO,

What is the coefficient for O, when the equation is balanced using whole number coefficents ?

(1) 5
2 7
3) 9
4 11

S (1) 9eREe, AM—E (1) RS AR Gew (IV) SAFEe 999 & fau sy & 9y
yfafsran s € ¢

_As; Sy +_ 0y —» _AS; 05 + _ SO,

O, % T T[uTieh =11 € STe §9 HHIHLU Rl U1 HE&AT UNRI o1 AN Fileh Heferd fha1 Sl 8 ?

(1) 5
(2) 7
(3) 9
(4) 11

Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,
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. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

When FeCl, is ignited in an atmosphere of pure oxygen, the reaction that takes place is :
4FeCly(s) + 30,(g) — 2Fe,04(s) + 6Cly(g)

If 3.0 Mol of FeCl, are ignited in the presence of 2.0 Mol of O, gas, how much of which reagent is

present of 2.0 Mol of O2 gas, how much of which reagent is present in excess and therefore remains
unreacted ?

(1)  0.33 Mol FeCl,
(2) 0.67 Mol FeCl,
(3) 0.25 Mol O,
(4) 050 Mol O,

@ FeCly, 1 Y& Seiier o ararewyl H weafad foran s g, @ s wfafrm adi 2 g &
4FeCly(s) + 30,(g) — 2Fe,04(5) + 6CL(g)

=g 2.0 9 O, 19 =1 3ufearfd § FeCl, % 3.0 Hiel =l ysafaa foran s 2, @ e sifverdes =1 ferat
siferehal € R gHfore 98 srfafwma & €2

(1)  0.33 Mol FeCl,

(2) 0.67 Mol FeCl,

(3) 0.25 Mol O,

(4) 050 Mol O,

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

Magnetite Fe,O,, is a mixture of iron (II) oxide and iron (III) oxide. What is the most likely ratio of
iron (II) oxide to iron (III) oxide in magnetite ?

(1) 1:1
2 1:2
3) 2:3
4 3:2
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TIRTES, Fe,0,, A (I1) SFES 3 SR (1) sFEes # fagu g fHeme § A (1) ieeEs §
S (I1) SRIEE %1 S Hefaa e #1182

(1 1:1
2 1:2
(3) 2:3
(4) 3:2

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

- 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

Calculate the volume of 0,110 M Copper (II) nitrate solution that can be prepared by dissolving
33.29 g of Copper (II) nitrate trihydrate in sufficient distilled water.

The Molar mass of Cu(NO,), . 3H,O is 241.6 g mol ~ L,

(1) 050 L
(2) 125L
(3) 250 L
(4 3.75L

0.110 M =X (I1) AEeE faer@™ =1 |E0 &l T i S gaid sdfad sied § 33.29 g w9 (1) B2
ZTEEIsSE i Tt et A femal ST Feh 8 1 Cu(NOy), . 3H,O %1 HIel Z99HM  241.6 g mol ~! & a{IeR

-

(1) 050 L
(2) 1.25L
(3) 250L
(4 3.75L
Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,

- 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334

Question ID:- 85

The formula of sodium tungstate is Na,WO, and that of lead phosphate is Pby(PO,),. What is the
formula for lead tungstate ?

(1) PbWO,
(2) Pb(WO,),

(3) Pbs(WOy),
(4)  Pby(WO,),
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Hifesm T2 1 ¥ Na,WO, T 3R T WEhe &l g3 Pby(PO,), T 1 S ST H g FNAA T 2
(1) PbWO,

(2) Pb(WO,),

(3)  Pby(WOy),

(4) PbB(WO4) 4
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

An electron can move from one orbital of a hydrogen atom to another. In which transition will the
photon of highest energy be emitted ?

(1) 2p — 1s
(2) 1s - 2p
(3) 3s — 2s
(4) 25 — 3s

ek TAael BIESISH WHIY] o e 41 § 8L &l H§ Haeo L Hehal ¢ | fhy Hehau § Haifasr =l &
hIe Iedfsta g ?

(1) 2p — 1s
(2) 1s — 2p
(3) B3s — 2s
(4) 25 — 3s
Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which electron configuration represents a violation of Hund's rules ?

(1) 11 11 1111

(2) 1} 11 111

(3) 11 11 11 1

@ |1 |1 1] 1
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%A e faama g8 & fradl & Seoem &1 Freo & § 2
@ (1] {1 [1]1]4

@ (1] {1 (1|14

3) (1] (1] [1e]{11] 1

@ (1] (1] [1e] 1

Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
« 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

Consider the species 23211, gasAs and ggGe . These species have the same number of :
(1) Electrons

(2) Protons

(3) Neutrons

(4) Protons and neutrons

gt 207n, S3As 3R 12Ge T fomam 1 37 wefoddt # Freifera # & formst den wm €

(1) =M

(2) WRE

(3) M

(4) WA SR =g
Options:-

.1, Option ID :- 349,
. 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89
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What is the atomic weight of a hypothetical element consisting of two isotopes, one with mass
64.2 u (25%) and the other with mass 65.3 u ?

(1) 653 u
(2) 644 u
(3) 649 u
(4) 65.0u

Ue FTeUleh fedl foreeh ol Aoei=anl H 4 T 64.2 u (25%) FAHM aTel SR G5 65.3 u SAHM dlel %l
TIHTY] R P B ?

(1) 653 u
(2) 644u
(3) 649 u
(4) 65.0 u
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90

What is the frequency of light having a wavelength of 450 x 10™8 m ? (Given: c=3x108 ms™1) :
(1) 284x10-12g-1

(2) 210x10*s~1

(3) 429x10M g1

(4) 6.67x1015 571

45010~ 8 m TR AT YT Fi gha faat St B2 (R T : c=3%x108ms™1)
(1) 284x10" 1251

(2) 210x10%s1
(3) 4.29x10M 51
(4) 6.67x101°2 571
Options:-

.1, Option ID :- 357,

« 2, Option ID :- 358,

. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91
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When the acids H,5e, HBr and HI are arranged in order of increasing acid strength, which is the
correct order ?

(1) H,Se < HBr < HI
(2) HBr <HI<H,Se
(3) HBr < H,5e < HI
(4) HI< H,Se < HBr

el 3% H,Se, HBr SR HI #h! 90l g5 377 ekl o swH H oxaf¥d foran Sl &, shIH-91 %9 |el & 7
(1) H,Se < HBr < HI

(2) HBr<HI<H,5e
(3) HBr <H,5e < HI
(4) HI< H,5e < HBr
Options:-

.1, Option ID :- 361,

« 2, Option ID :- 362,

. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Which metal requires the least energy to exhibit the photoelectric effect ?

(1) Cs
(2) Ca
(3) Cu
(49 Hg

FREA RS T Y T % Ty foRg o &1 9ed #H Sl @ eTEygshal g © 2

(1) Cs
(2) Ca
(3) Cu
(4) Hg
Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93
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Which group of elements is listed in the order of increasing boiling point ?

(1) Lithium, sodium, potassium
(2) Chlorine, bromine, iodine

(3) Sulphur, chlorine, argon
(4)

4 Zinc¢, cadmium, mercury

T g FLHIF o U T al & Y 9y F1 gees e T g2
(1) fafem, Gifegs, Gefiem

(2) AR, SHA, SEEH

(3) HEWX, FAH, HAFH

(4) foi=, wefym, wwd

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

GET IT ON
Google Play

Question ID:- 94

Which pair of atoms should form the most polar bond ?

() BandF

(2) Cand O
(3) OandF
(4) Fand N

RS fFE S %1 g e gdrg §699 o9 2

(1) B#RF
(2) C3RO
(3) OSRF
(4 F3RN
Options:-

.1, Option ID :- 373,
- 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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The first five ionization energies, in k] mol 1, for a particular element, are shown in the table
below :

First Second | Third | Fourth Fifth
580 1,815 2,740 11,600 | 18,500

The element is likely to form ionic compounds in which its charge is :

1) 1+
2 2+
(3) 3+
(4) 4+

ol 9 % AT k] mol —1 H 98t Ui el Sei foms T ¥

Tl o | e =ren e
580 1,815 | 2,740 | 11,600 | 18,500

A o A AT a9 1 H9e § fEH gHeR e R

(1) 1+
(2) 2+
(3) 3+
4 4+
Options:-

.1, Option ID :- 377,
- 2, Option ID :- 378,
. 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

The arrangement of the atoms in the ammonia molecule at its lowest energy is described as :
(1) Trigonal pyramidal

(2) Trigonal planar

(3) Trigonal bipyramidar

(4) Square planar

STHIf1 370] | qeerysd s FEan Sl W sgeen i 39 w9 H gftid fa 7 g
(1) TFeprviia fufae

(2) Taeproiia wede=

(3) TR Tgfoafre

(4) = HHAE
Options:-

.1, Option ID :- 381,
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. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

In which of the following compounds would the molecules be expected to be linear ?

(1) Oy

(2) SO,
(3) H,0
(@) Co,

T ifiTes H S1opstl o WA 29 i TR S Hedl § 7

(1) O3
(2) SO,
(3) H,0
(4) CO,
Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

What is the hybridjzation of the S atom is SF 1?

(1) sp*
(2 sp’
(3) spd
(4) sp3d?

SF, H S TRHTY] &1 [T F1 E ?

(1) sp°
(2 sp°
(3) spd
(4) sp’d?
Options:-

.1, Option ID :- 389,
- 2, Option ID :- 390,
. 3, Option ID :- 391,

- 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391
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Question ID:- 99

One way of writing the Lewis structure of the cyanate ion OCN ™ is [O=C=N]~. What are the
formal charges on the O, C and N atoms, respectively, for the structure ?

(1) 0,0, -1

2 1,0,0

o S N g
@ -2,1,0

HET2 @9 OCN ™~ &1 54 §3= &1 fag &1 t& @il [O=C=N]~ 8| §&=T & fau %99 O, C
3R N st W fFramfss emere o 82

(1) 0,0, -1
(2) 1,0,0
(3 -1, +1, -1
(4) -2,1,0
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Which one of the following violates the octet rule ?

(1) PCl,
(2) CBry
(3) OF,

(4) AsFg

feafafaa § 9 = e a9 =1 Sooigd & | 2

(1) PCly
(2) CBr,
(3) OF,
(4) AsF,
Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101
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All are state functions except :

(1) Pressure

(2) Heat
(3) Free energy
(4) Enthalpy

Toraer! Bt 9ofl s7aeel werd (22 BH) § 7

(1) <ord

(2) drg

(3) HH SN

(4) Tt (gl 3
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Calculate the bond energy of the B-F bond in BF; (boron trifluoride) gas :

AH? of atomic B=134.5 kcal/mol
AH! of atomic F=18.86 kcal/mol

AH? of BF;=—271.75 keal/mol

(1) 97.7 kcal/mol

(2) 116.6 kcal/mol
(3) 1354 kcal/mol
(4) 154.3 kcal/mol

BF; (SRIF ZE@RIEE) 19 H B-F &4 Sl i TUA] ShHifed |

WA B 1 AH] =1345 keal/mol
A F % AH| =18.86 keal/mol

BF, 1 AH, = —271.75 kcal/mol

(1) 97.7 kcal/mol

(2) 116.6 kcal/mol
(3) 1354 kcal/mol
(4) 154.3 kcal/mol
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Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405

Question ID:- 103

Given the following standard enlhatpies of formation : CO,(g), —394 kJ/mol; H,O(1),
—286 kJ/mol; C4H3(g), 16.0 kJ/mol, calculate the heat of combustion of one mole of C4H3 if the
equation describing the process is :

C4Hs(g) + 605(g) — 4CO,(g) + 4H,0O()

(1) —2736 kJ]/mol

(2) —696 kJ/mol

(3) 696 kJ/mol

(4) 2736 kJ/mol

e &l ffafad 9 woed & T ©
COs(g), —394 K] /mol
H,O(l), —286 kJ/mol
C,Hs(g), 16.0 kJ/mol

C,H; & T Il % T84 S BT Sl T0FT L Afe Ufsral o1 99 3 arel FHis 8
C4H;(g) + 60,(g) — 4CO,(g) + 4H,0O()

(1) —2736 kJ/mol

(2) —696 kJ/mol

(3) 696 kJ/mol

(4) 2736 kJ/mol

Options:-

.1, Option ID :- 409,

. 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

Determine the value of AG® (in kJ) for the following reaction using data from the table below :
2H0(g) + Oy(g) — 2H,0,(g)

Substance AG? (kJ/mol)
H,O(g) — 228
H,0,(g) - 105
(1) —246
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== &1 T2 aifcrent 9 S w1 39AN e FHEfara gfafma & fan AGe (k] H) =1 A Tl w1
2H;0(g) + Oy(g) — 2H,04(g)

e AG® (kJ/mol)

H,0(g) - 228

H,0,(g) —105

(1) —246

(2) 666
(3) 246
(4) —666

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

How many K] of heat are liberated when 50.0 g of Mn(s) is burnt to form Mn;0,(s) under standard
states ?

3Mn(s) + 20,(g) — MnyO,(s)

(Atomic mass (Mn)=55; AH? (Mn30,(s)) = — 1388 k] mol 1)
(1) 421

(2) 946

(3) 1388

(4) 2838

HAeh A & T80 MnyO,(s) T % T 50,0 T Mn(s) 1 S T fohe k] 301 o 2rdl & 7
3Mn(s) + 204(g) — MnyOy(s)

(9] ZF9H (Mn) =55; AH{ (Mn,O,(s)) = — 1388 kJ mol ~1)

(1) 421
(2) 946
(3) 1388
(4) 2838
Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question ID:- 106

A saturated solution of MgF, contains 1.16 x 10~ mol of MgF, per litre. What is the K, of
MgF, ?
(1) 2.7%107°

(2) 1.6x1077
(3) 3.1x10?
(4) 6.2x107

MgF, % Hq faers  § MgF, % 1.16510~2 Hel ufd feet 81 &1 MgF, 1 K, 1 &7
(1) 2.7x%107°

(2) 1.6x10—7

(3) 3.1x10°

(4) 6.2x107?
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

Which will be the same for solutions of 0.50 M NH5 and 0.50 M NaOH ?
(A) Concentration of OH™ ions.
(B) Volume of 0.20 M HCI required for neutralization.

(1) (A) only

(2) Both (A) and (B)
(3) (B)only

(4) Neither (A) nor (B)

0.50 M NH; 3R 050 M NaOH o faea i & o %9 |1 w9 2 ?
A) OH 2= @l Higdl
B) SerERY fereTeH & ferg emfa 0.20 M HCI &1 A

(

(

(1) e (A)

(2) (A) ¥ (B) A
(3) e (B)

(4) A (A) AR TE (B)
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
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. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

For the reaction
2NO(g) + O,(g) = 2NO,(g)

the equilibrium concentrations at a certain temperature are found to be [NO]=0.10 M,
[O,]=0.20 M, [NO,]=0.30 M. The value of the equlibrium constant for the reaction at this
temperature is :

1) 1.5

(2) 15

(3) 45

4 150

safuferan & oo

2NO(g) + Oy(g) = 2NO,(g)

T ATHH W HqeH Figd e S 8

[NO]=0.10 M, [0,]=0.20 M, [NO,]=0.30 M
39 99eE R 38 gafwan o fau g feris & am €

(1) 1.5
(2) 15
(3) 45
(4) 150

Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

An aqueous solution of which salt would be expected to have the most basic pH ?
(1) Na,CO,

(2) NaC,H,0,
(3) NaCl

(4) NH,C



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Tohd &1 o STelid ©el sl Hay SAmE] | (@8E) pH B &1 SHHIQ i STar ?

(1) NayCO,

( NaC,H;0,

(3) NaCl

(4) NH,.C
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

If 40.0 mL of 0.20 M CH;COOH are titrated with 0.20 M NaOH, how many mL of base must be
added to form a buffer solution with the greatest buffering capacity ?

(1) 5.0
(2) 10.0
(3) 20.0
(4) 40.0

7fg 0.20 M CH,COOH % 40.0 mL %1 0.20 M NaOH 3 H1¥ 21522 a1 s €, ol 2ifeehas 9wl &
Y FEL FAM 6 g, fohad mL &R (319) Siern =fed ?

(1) 5.0
(2) 10.0
(3) 20.0
(4) 40.0
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

In which pair does the named substance have the same oxidation number ?
(1)  Sulphur in H,S,0, and H,SO,

(2) Mercury in Hg?* and Hgg+

(3) Cobalt in Co(NH,)>"and Co(NO,),
(4) Oxygen in Na,O, and H,0.
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for 771 H ifea g 1 it den §uH 2
(1) H,5,0, 3 H,S0, ¥ §ew

(2) Hg** X g2 dum

(3) Co(NH,)" 3R Co(NO,), § iz
(4) Na,O, 3R H,O H sifarfisH

Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

What is the oxidation number for carbon in CaC,0,?

M 0

2 +2
(3) +3
(4) +4

CaC,0, ¥ e & feTu silesiero e 1 © 2

(1) 0
(2 +2
(3) +3
(4) +4
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

Which of the following is a correct statement ?
(I) Oxidation is caused by a reducing agent.

(2) The oxidation reaction is a redox reaction.
(3) Addition of an electropositive element is a type of oxidation.
(4) Reduction is the addition of hydrogen.
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Trafafaa 9 | /@ | @ W& w97 8 2

(1) ATFHEH T=7 HTH 91l Tsie 3 HRO A 2 |
(2)  ATeRdTeR Hiafshan Tk Leiey ufdfwan g1

(3) Ter[d uFTeHe Ted 1 AN Uk YeRI 1 ST 2 |
(4) SATHHA SRS H G

Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114

What is the coefficient for Fe2* when the redox equation

Fe?T+ MnO,I-i- HY = P4 anJr + H,0 is balanced using the smallest whole number

coefficients ?

() 2
2 3
(3) 4
4 5
Fe?* o feTu TUTieh o1 & Siel LS9 HHIe]

Fe’ + MnO; + HY — Fe’"+ Mn*" + H,0
Had B1e YUl HE&A 9N H1 TAF FHlh Aqiad el ¢ 2

(1) 2
2) 3
(3) 4
(49 >
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115
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Which one of the following statements is NOT correct for the given reaction ?
Fe(s) + CuSO,(aq) — FeSOy(aq) + Cu(s)
1)  Iron is the reducing agent.

The solution turns green in colour after the reaction.

SEE

—— A e

)
) Copper is a more reactive metal than iron.
)

4)  The reaction is an example of a redox reaction.

& i wfifene 3 fere Frefafian @ W w1 wue w87
Fe(s) + CuSOy(aq) — FeSO,(aq) + Cu(s)

(1) TR SAIHEF 2

(2) afufsran % a8 e 1 &1 & 2 S 2 |

(3) IR EIe = gorn § erfirsr wfafmemsiar g 21

(4) wfafsrn, Tema wfafFan = uF e )

-2

Options:-

.1, Option ID :- 457,
- 2, Option ID :- 458,
« 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

An aquous solution is 1.00 Molal in KI. Which change will cause the vapour pressure of the
solution to increase ?

(1) Addition of water.

2) Addition of NaCl.

3) Addition of Na,SO,.
)

(
(
(4) Addition of 1.0 Molal KI.

KI § U Sfeitg 9 1.00 9iae &1 9 9iada o &R faeem &1 a1 g@ 9g e ?

(1) i S

(2) NaCl =1 am

(3) Na,SO, =l IM

(4) 109 KI 1 AR
Options:-

.1, Option ID :- 461,
- 2, Option ID :- 462,
« 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117
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What is the molality of the Li™ ion in a solution prepared by dissolving 2.20 g of Li,50,
(MM =110.0 g/mol) in enough H,O to make 50.0 mL of solution ?

1) 2.00x10-2M

(

(2) 4.00x10-2M
(3) 0.400 M

(4) 0.800 M

Li,SO, (MM =110.0 g/mol) = 2.20 T8 &l T=< H,O H 50.0 mL Hie 7 o felg =ier 71 | 43R fy
MO G H Lit ST i Hiedn #E 2
(1) 2.00x1072M

(2) 4.00x10=2M
(3) 0.400 M

(4 0.800 M
Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Calculate the Molality of a solution that contains 51.2 g of naphthalene, C;yHg, in 500 mL of
carbon tetrachloride. The density of CCl, is 1.60g/mL :

(1) 0250 M
(2) 0500 M
(3) 0.750 M
(4 0.840 M

e faerda &1 ARErd1 1 0T s fHE 500 mL e <ZEANES § 51.2 UM THIA Cyy Hg, AHEA § |
CCl, %1 57 1.60 g/mL &1

(1) 0250 M
(2) 0500 M
(3) 0750 M
(4) 0.840 M
Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119
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The vapour pressure of pure water at 85°C is 57.9 kPa. What is the vapour pressure at 85°C of a
solution prepared from 100 mL of water (density 1.00 g/mL) and 150 g of diglycine, C,HcN,O;, a
non-volatile substance ? '

(1) 48.1 kPa
(2) 52.0 kPa
(3) 56.7 kPa
(4) 51.7 kPa

85°C W G A =1 a9 &1& 57,9 kPa i1 &1 100 mL §a (¥ 1.00g/mL) 3R 150 g SEaHA,
C,HgN,O5, Ta T aroasfiel ggmel § GaR fohu 7 Hiet & 85°C 92 a1 ol S99 &1 & ?

(1) 48.1 kPa
(2) 52.0 kPa
(3) 56.7 kPa
(4) 51.7 kPa
Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

If 45 g of glucose, C H;,0O,, are dissolved in 300 mL of water, what will be the boiling point of the
resulting solution ? (K for water =0.512°C/m).

(1) 101.64°C

(2) 100.78°C
(3) 100.43°C
(4) 99.626°C

7fg 45 7MW T CH,,Q, 1 300 mL S | =renl e, 1 wftondt faeme &1 Fagris @1 2 2
(s1& % fau K, =0.512°C/m)
(1) 101.64°C

(2) 100.78°C
(3) 100.43°C
(4)  99.626°C

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121
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The standard reduction potentials for AI’* and Zn?* are —1.66 V and —0.76 V, respectively.
Calculate the Gibbs free energy change for the balanced reaction.

2Al(s) + 3Zn’"(aq) — 2A1 T (aq) + 3Zn(s) (1F=96,500 C)
(1) =5.2x10°]

(2) —6.0x10°]
(3) +9.0x10%]
(4) +14x10%]

AR+ 3R Zn2+ % faU A9 ST0=ae &7 Ee —1.66 V 3R —0.76 V & | Hgfad ufafswan & fog fisg
oKl Fell qferd 1 0T |

2Al(s) + 37Zn%T(aq) — 2A13T(aq) + 3Zn(s) (1IF=96,500 C)

(1) =-52x10%]

(2) —6.0x10°]

(3) +9.0x10%]

(4 +14x10°]
Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

Which of the following statements about electrochemical cells is true ?

(1) Reduction occurs at the anode.
(2) An element with a high affinity for electrons is likely to be easily oxidized.
(3) Oxidation occurs at the anode.

(4

Only oxidation half reactions are important.

TR A Tl & a8 § (=fafad § § &9 9 HY T ¢ 7

(1) 9= THrE W2 81

(2) eIl o fou 3= ATt aTel SeiEe o ST | SRR B Rt e § |
(3) TS TR SRR Bl |

(4) THad AR rE-gfafsran weeEg 21

Options:-

.1, Option ID :- 485,

. 2, Option ID :- 486,

. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123
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What is E? for the following balanced reaction?
Zn(s) + Pb2* (aq) — Zn2*(aq) + Pb(s)

Half-reaction

Zn**(aq) + 2~ — Zn(s)
Pb2*(aq) + 2e~ — Pb(s)
(1) +0.637V

—-0.763 V
—0.126 V

(2) —0.637V

(3) —0.889V

(4) +0.889V

Taf=fefad wafea faen & fag B° = 2

Zn(s) + Pb2*(aq) — Zn>*(aq) + Pb(s)

3ref ufaferar ek 3TU=E 0T
Zn?*(aq) + 2~ — Zn(s) —-0.763 V
Pb**(aq) + 2~ — Pb(s) —-0.126 V

(1) +0.637V

(2) —0637V

(3) —0.889V

(4) +0.889 V
Options:-

.1, Option ID :- 489,
. 2, Option ID :- 490,
« 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Standard Reduction Potential

GET IT ON
Google Play

Question ID:- 124

Identify the strongest reducing agent based on the following half-reactions :

Half reaction

MnO,(s) + 4H " (aq) + 2e~ — Mn2* (agq) + 2H,O(1)
Hg,S50,(s) + 2™ — 2Hg(l) + SOf‘(aq)

SnO,(s) + 2H,O(l) + 4e™ — Sn(s) +40H ™ (aq)
Cr(OH),(s) + 3e~ — Cr(s) + 30H ™ (aq)

1) Cr

(

(2) MnO,
(3) Sn

(4 Hg

Standard reduction potential
+1.22V
+0.61V
—0.95V
—1.48V
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Frafafaa owf erfufsrnsti & R ) yeeaq ST9=Es & U89 S

3¢l ufaferar Urieh 3TUera &THdr
MnO,(s) + 4H™ (aq) + 2~ — Mn? " (aq) + 2H,O(l) +1.22V
Hg,S0,(s) + 2~ — 2Hg(l) + 50,2 (aq) +0.61V
SnO,(s) + 2H,0(l) + 4e~ — Sn(s) +40H ~(aq) ~0.95V
Cr(OH),(s) + 3e~ — Cr(s) + 30H(aq) —1.48V
(1} Cr
(2) MnO,
(3) Sn
(4 Hg
Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

What mass of nijel (atomic mass 58.7u) could be electroplated from a solution of nickel (IT) chloride
by a current of 0.25 amperes flowing for 10 hours ? (1F=96,500 C)

(1) 12g
(2) 55g¢
(3) 0.046 g
4 27g

e (1) FeinEs & foom 9 e (REY] 299F 58.7 u) & R S999F T 10 = % e ardl
0.25 THIRIR i &R g foreld eiva femann 7 |endl & 2
1F =96,500 C)

(

() 12g
(2) 55¢g
(3) 0.046 g
(4 27g
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126
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The first order reaction
2N, O(g) — 2N,y(g) + O,(g)

has a rate constant of 1.3 x 1011 s~ 1at 227°C and 6.5 x10~ 105~ 1 at 327°C. What is the activation
energy for the reaction ? (R=8.3 JK™ tmol !, log,,2=0.30)

(1) 15 kJ/mol
(2) 30 KkJ/mol
(3) 68 kJ/mol
(4) 97 k]/mol

g Hife & Al

2N,0(g) — 2Ny(g) + Oy(g)

* o 227°C W 1.3x10~ s~ 1 3T 327°C W 65x10 10— 1 =t 5T frem 71
79 wfafsran o fe afFam S #0282 (R=8.3 ] K~ mol !, log;,2=0.30)

(1) 15 KJ/mol

(2) 30 KkJ/mol

(3) 68 KkJ/mol

(4) 97 k]/mol
Options:-

.1, Option ID :- 501,
. 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127

The rate of the reaction 2NO + Cl, — 2NOCl is given by the rate equation rate = k[NO]E[Clzj. The
value of the rate constant can be increased by :

(1) Increasing the concentration of NO.
2) Increasing the concentration of Cl,.

i

[$5)

(
(
(

)
) Increasing the temperature.
)

4)  Doing all of these.

U 2NO + Cl, — 2NOCI % & 36 & HHH0T g & T 2|
TW=k[NOJ?[Cl,]
= Teris o1 919 foras g/ agmn 571 Hehar & 2

(1) NO = Higdl s@rH
(2) Cl, &l Higdl s
(3) TTIHI SEr
(4) € G HE

Options:-
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.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

The ionic reaction 31" + SEO? — 2807 + 1,

is found to be described by the experimental rate equation.
Rate = k[I7][S,05 ]

This suggests that :

1)  The reaction occurs when three iodide ions collide simultaneously with one Szogﬂ ion.

(D)

(2) There must be only one step in the overall reaction since the rate is first order in both reactants.
(3) The rate of reaction is inhibited by the presence of I .

(4) A slow step in the overall reaction sequence may involve the collision of a single I~ ion with

a single 820_5“ ion,

S Hidfha 31 + 5,07 — 250; + 1, Wi ot efish gru st g S
W = K[I7][S,05 ] | 368 wa Feian B |

(1) Wl a Bl § 5 7 SAPISES AP TF 1Y Uk S,0; HM § 2Hd 8 |

(2) wEy gfafsrn 9 e uF =0 9 =ifen #Hife S st &Y ud wife 7

(3) I 1 3ufeafd & wfafran =1 & aifid 8l 21

(4) T et FH H T T e H U [ S U S,0; P H 2o S 2wl
gl

Options:-

.1, Option ID :- 509,
- 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129
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The rate equation of a reaction is given by
Rate=k[A]?

The units of k are :

(1) mol dm 3!

(2) dm*mol~!
(3) &1
(4) mol~ldm3s—!

sifufsran 1 o7 FHIE 39 TR fean Simdr € st=Kk[A]%k &l SHET & |
(1) mol dm 3~

(2) dm3mol~!
(3) s !

(4) mol ldm3s—1
Options:-

.1, Option ID :- 513,

« 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

GET IT ON
Google Play

Question ID:- 130

Which of the following equations is not correct ?
(1) k=A exp(E,/RT)
(2) AG=AH-TAS

0
(3) AG{=-RTInK,

(4 T=pV/nR

Frfafed § & #H- gfiw 98 & 8?2
(1) k=A exp(E,/RT)
(2) AG=AH-TAS

o
(3) AG{=-RTInK,

(4 T =pV/nR

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131
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Which of the following electron configurations is correct for Nickel ?
(1) [Xe] 4s! 3d8
(2) [Kr] 4s! 3d8
(3) [Kr] 45> 3d®
(4) [Ar] 4s2 348

Trere & dedl ¥ frmfafaa § 9 s9-w1 o[ fo=m w&l § 2

(1) [Xe] 4s' 3d®
(2) [Kr] 4s! 3d8
(3) [Kr] 4s% 3d8
(4) [Ar] 4s2 343

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

GET IT ON
Google Play

Question ID:- 132

The atomic radii of Zr (145 pm) and Hf (144 pm) are almost equal because of :
(1) Their being isoelectronic.

(2) Their being isotonic.

(3) Lanthaneid contraction.
(4)

4)  Higher atomic number of Zr as compared to Hf.

Zr (145 pm) 3% Hf (144 pm) = TTATY] B0 @09 e § F1

(1) & Tz §

(2) o SEHREIF §

(3) TUES HEHEA

(4)  Zr o1 ] T Hf H 21 S )
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
« 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133
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Choose the correct option for Mn,O, CrO; and V,05 from the following :
(1) Mn,0., CrO, and V,0; are acidic.

(2) CrO, is acidic while Mn,O- and V,0;5 are basic.
(3) V,0j is acidic while CrO, and Mn,O,, are basic.
(4) Mn,O CrO, and V,05 are all basic.

Frafafed § 9 Mn,0,, CrO, 91 V,0 % feru w2t fersrey w1 =2 i -
(1)  Mn,O,, CrO; 3R V,0; 31l ¥ |

(2) CrO, 31 € Saifeh Mn,O, 991 V,05 &R 2 1

(3) V,0, I § S|k CrO, 3R Mn,O, &RA 7 |

(4)  Mn,O,, CrO, 991 V,0, 91 &g 2|

2

Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

The formula of the deep red liquid formed on heating potassium dichromatie with KCI in
concentrated sulphuric acid is :

(1) CrCly
(2) Cro,Cl,
(3) CrO,

(4) Crso,

T Gl o § el SEshiHe &l KCl & WY T HH W F94 il e ol 29 &1 3 ¢

(1) CrCl,

(2) CrO,Cl,

(3) CrO,

(4) CrSO,
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
- 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135
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The magnetic moment of Cr2* is

(1) 2.85 BM
(2) 4.40 BM
(3) 5.92 BM
(4) 3.87 BM

Cr2* &1 g g ©

(1) 2.85BM
(2) 440 BM
(3) 5.92 BM
(4) 3.87 BM
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

GET IT ON
Google Play

Question ID:- 136

Which of the following is a coordination compound ?
(1) K MgCl,. 6H,0

(2) Fe SO,(NH,), SO,.6H,0
(3) KAI (SO,),.12H,0
(4 K5 [Al (COy);]

Trafafad § 9 s o UF SqgeEasH AfE 8 2
(1) KCl MgCl,. 6H,0

(2) Fe SO,(NH,), SO,.6H,0
(3) KAl (SO,),.12H,0

(4)  K; [AL (GOy)s]

Options:-

.1, Option ID :- 541,

- 2, Option ID :- 542,

« 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137
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The coordination number of cobalt in the complex [Co(en),Br,]|Cl, is : (en =NH,CH,CH,NH)
(1) 4

(2
(3
(

) 6
) 5
4) 2

H%e [Co(en),Br,|Cl, T HEce i SUHEEASH H& § (en=NH,CH,CH,NH,) :

(1) 4
2 6
(3 5
4 2
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 2, Option ID : -546

Question ID:- 138

Which of the following is a hexadentate ligand ?
(1) Ox(oxalate ion, C,0,%27)

(2) CN~™
(3) en(ethylenediamine), NH,CH,CH,NH,)
(4) EDTA

Frafafea § 9 $9 91 % eFreee Saud § 2
(1) Ox(SEEE FH, C,0,27)

(2) CN
(3) en(ufaeier@ME, NH,CH,CH,NH,)
(4) EDTA

Options:-

.1, Option ID :- 549,
. 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139
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The oxidation state of the central metal atom in the coordination compound [Pt (NH3);Cl] Cl is :

(1) +2
(2 +1
3) 0

4 -1

IUHEHATS AT [Pt (NH;),Cl] ClH 21 4T ST i IU=HA e ¢

(1) 2
(2)  +1
3 0
4 -1
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Given the list of ligands and their corresponding names, choose the pair that does not match.

Ligand Name
(1) OH-™ Hydroxo
(2) CN~ Cyanide
@ 1= Chloro
(4 H, Aqua

I 1 G 1T Ik W THI 1 SE@d gUIH H A Sl Aa] Hed!

R L
(1) OH~ RS
(2) CN-~ HIEAES
(3) ClI™ FARI
(49 H,0O el
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

- 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141
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The IUPAC name of

F
CHS—(;,'I—I—-CH—(E—CH3 is:
OH OH
(1) 1,2 3,4 - tetramethyl-1, 3-propandiol.
(2) 1,1, 2 - trimethyl butan -1, 3-diol.
(3) 1,2 - dimethyl pentan - 2, 4-dioL
(4) 2,3 - dimethyl pentan -2, 4-diol.
7
CH, —CH—CH—C—CH, F1 [UPAC 7 e
OH OH

(1) 1,2, 3,4 -2HwEd - 1, 3 - fifesia
(2) 1,1,2-TEHIEA L - 1,3 - TEE
(3) 1,2 - eEfuEaled - 2, 4 - <H«
(4) 2,3 - cEfhuEd Y - 2, 4 - SAE

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142
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Consider the following sequence of reactions :

NH
’ Br,/H,0 ﬁi’%}‘oz F HBF, A
> A » B » C » D
0-5°C

The product 'D' is :

F
F F
(D)
F
F
(2)
Br
NH,
F F
(3)
F
F
Br Br

Br
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Htufer & fFfafad F79 w fa=r Fife

HBF,

NH, NaNO, +
Bry/H,O oA HC1 o B
0-5°C

39H 3 'D' ¥ :

Br Br

(4)

Br

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

GET IT ON
Google Play

Question ID:- 143
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Which of these species is aromatic ?

. R
o [
(4) |:

.1, Option ID :- 569,
. 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144

In the given molecule :

CH,=C=CH,

I oI I
(1)  All three carbons are sp hybridized.
(2) C-Iand CHII are sp? hybridized and C-1I is sp hybridized.
(3) Both C-I and C-III are sp hybridized and C-II sp? hybridized.
(4)  All three carbons are sp? hybridized.
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fem T oo H

CH,=C=CH,

I O I

(1) @i e sp i €1

(2) C-I 3% C-III sp? Herfid & 3R C-Il sp Hepfid 21
(3)

(4)

C-1 R C-III §F1 sp Tahfid € 3T C-11 sp? Wahfd 2 |
T‘ﬁ‘ﬁﬂﬁhspzﬁ%ﬁﬁﬁl

Options:-

.1, Option ID :- 573,
- 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

GET IT ON
Google Play

Question ID:- 145

111
= I I\Y
I XN A%

In pyridine

—

III only

I and IV only

[ and V only

L II, IV and V only

e T e R
(T B )
e i

Ty

11
=" NIV

I\NIV

) had I

) had 11 3R 1V
(3) A 1RV

) Had LI, V3RV

fafrE ¥ sl 1 STy S FeEl 9T Y S § 2

Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

, the maximum electron density is found at position :

Question ID:- 146
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The C-Cl bond distance is shortest in :

AR A d
(1)

N

/\l/\\\/\ Cl
(2)

N

PTG
(3)

N

Cl
P

(4 S

f=ifera § 4 formd emey siaue o1e9qY BT § 2

SN =
(1)

S

/\|/\\//\ cl
(2)

S

vl W e
(3)

Sy

Cl
=
(4 o
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147
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Which of these species will produce a precipitate of AgBr most readily when treated with AgNO,

solution ?
(1)
Br
Br

N
2 |

\\/

/\l/\ Br
©) X

Br

Trifera | @ form wfa =1 faea wgge | sifufehan um T AgBr &1 $T94[Y dehlel 308l BRI 7

(L)

<

=
~

)
\

=

)¢
/

r

Br

(4 OCHs

&y

Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Which of the following are structural isomers?

4 OH =
‘ CH, Q/ CH,CH=CH-CH,—CH,
O
I II 1T v
(1) ILand IV only.
(2) L IIand IV only.
(3) Ul and IV only.
(4) Tand II only.
freifera § & = SIS FHETE & 2
o OH =
O
I I 1 IV
(1) had 11 3R IV
(2) a1 11 3R IV
(3) had III 3 IV
(4) FaAT AR
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149
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Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Which of these reactions will give cis-diols as the product?

H
N CH;
(D VN Cold alk. KMnOy
H,C H >
H CH
W imn . o
(2) / _ Hzoz, OH
H,C H @ ———
H
N e ~5 6 B,
(3) /- ~ =y
H;C H (i) HyO, /S OH
H CH
Nee” () Br
(4) / ~ , >
H,C H (i) KOH (aq)

fr=ifera § 9 forg sifaferan & Foasd SEE & 89 4 dis-diols (THISTEREE) S99 &1 & 2

H CH
N B 3
(D) /N Cold alk. KMnOy
H,C >
H\ CH,
(2) F=C H,0, 0H
H,;C H @ ——
H CH
D ;:
" Ne—e” @ BHy
: / B 1
H,C H (i) H0,/©0H
H CH;
s e (i) Brp _
(4) / ~ = >
H,C H (ii) KOH (aq)

GET IT ON
Google Play

Question ID:- 150
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The spots of separated components in paper chromatography can be made visible by :
(1) Putting the chromatogram under UV light.
2) Spraying a visualizing agent.

3) Placing the chromatogram in a jar containing a few crystals of iodine.
4) By complexing with heavy metal ions.

T3 avferal a9 § yyesda w2l & U fifea 0 9 g &l % 9% ovmH & 9% § 2
(1) IUETH e § goferd 1 TE W

(2) TF AlvwHF & fogshE FH W

(3) EUCRE Tl A & FoH fhzd o SR H T |
(4) W Ak STEFT &1 Hahd a1 9

Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

The quantitative estimation of nitrogen by Kjeldahl's method will provide accurate results for :

NH—NH- :

@)

T

N=N
@) O/
(3)

NH_
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Sieerd faft ® Ageed &1 qREmneTs (AR, ) WEehed & & haaey eifed 3 9 frge @2is
yfawer gre grm 2

NH—NH
N0

@)

!

NH\
. OO

Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 1, Option ID : -601

Question ID:- 152
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The most stable conformational isomer of 2-chloroethanol is :

OH
H Cl
(1)
H H
H
OH
Cl
H.
H H
OH
H H
)
H H
Cl
OH
- &
H:

1 g 2!
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2-FAREYAE ] Halfah T FTEUHER q96Td §

OH
H Cl

(1)
H H

H
OH
Cl
- &
H H
OH
H H
(3)
H H
Cl
OH
H
N
H:
H cr'H

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

GET IT ON
Google Play

Question ID:- 153
Which of these statements is NOT true about the Sy2 reaction ?
(1) Order of reactivity of alkyl halides is 1° > 2° > 3°.

(2)
(3) Protic solvents facilitate the Sy;2 reaction.
(4) Order of reactivity with different halides is RI > RBr > RCL

Reaction rate is dependent on the concentration of the nucleophile.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Sy 2 @fuferan % ai # fiferd § § SA-1 FoF TE 7@

(1) TUeHEd TR & AfFImRierar &1 %9 1° > 2° > 3° Bl 81

(2) aAfufsran =i < =fererne (FfeRrn) =i wigar o2 e 2t 2
(3) Tifess facrass 52 wiffsran H wemes 2|
(4)

4) Tafier soEe & 91y ATYfHAmied &1 %% RI > RBr > RCl ¥l

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

GET IT ON
Google Play

Question ID:- 154

Consider the following sequence of reactions :

+ HBr

SbE
2y B

y

E /

Br

R3%
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safufsran & fifera srgsra  fa=m #ifs |
R
+HBr >ASbF3>B
THH B ¥ :
Br
(1)

F
Br
- /(j)\
F
F
5 O’)\
F
Jee
F

Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 3, OptionID : -615

Question ID:- 155
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In the sequence of reactions given below :

NH,

NaNO. H5PO
3 A——%B

+HCl ~ — H,O
0-5°C
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NH,
. NaNO,  HiPOp . .
<1 715 AfTRAIS o 3ThH, AU P 00 HBE:
0=5°C

OH

OH
OH

OH
N — N == CﬁHS

(4)

O-

Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

GET IT ON
Google Play

Question ID:- 156

The preparation of phenol from chlorobenzene is a/an :
(1) Electrophilic addition reaction.
Electrophilic substitution reaction.

(2)
(3) Nucleophilic addition reaction.
(4)

Nucleophilic substitution reaction.

FARE S H el GAR F % wH § Fifed § H i =t sifufen 2§
1) Terpaeit dses sty

2) faerawet wfaeenras sfufsran

3) AT At AfafsRa
)

(
(
(
(4)  feRT gideerds sifufssan
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Options:-
.1, Option ID :- 621,

. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

GET IT ON
Google Play

Question ID:- 157

Freons are manufactured using :
(1) Sandmeyer's reaction.

(2) Swartz reaction.

(3) Finkelstein reaction.
(4)

4 Gatterman reaction.

T w1 fafaaion fa=ifea 5 9 fras wowsy 8 g2

(1) Herdrr sifafswn
(2) TS sfafma

(3) TWhehewered eifvfskan
(4) T STTyfham
Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

The enol form of acetylacetone has :
(1) 90 bonds, 41 bonds, 2 Ione pairs

(2) 120 bonds, 2w bonds, 4 lone pairs
(3) 140 bonds, 21 bonds, 4 lone pairs
(4) 140 bonds, 41 bonds, 2 lone pairs

(1) 9o HAEY, 47 HAEY, 2 Thad JTH
(2) 120 @Y, 20 Y, 4 Thel JH
(3) 140 S, 2m TS, 4 Thed I
(4) 4o AW, 4 A, 2 Tha TH
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
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. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

Which of these alkyl halides will undergo Sy;1 reactions most readily ?
(1) CH.—CH,-1
O
I
(2) C¢Hs—CH;—O—C—CHj
O

Il
(3) CGHS_CHz_O_[ﬁ_Q

O
O

I
(4 CgH;—CH,—O0—C— @

Treiferd § 9 form Toshsa segs H agd ST H Sy 1 SAfvfsran @t ?
(1) C.Hs—CH,—1I

O
I

(2) C4Hs—CH,—O—C—CHj
O

I

(@)
O

Il
(4 CgHs—CH,—O—C-— @

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160
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(1)

(3)

7

'P' could be :

M

Me

OMe
(2) only

e O
Me

In the following reaction :

only

OMe
and both

Me OMe

Me OMe

Me

only

GET IT ON
Google Play
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Forifera sl 4 Me OH,, /p/q)
Me Br
P AT |
(1) <had O
Me OMe
OMe
(2) had
Me
OMe
(3) 3R Ll
Me OMe Me
OMe
(4) Haa
Me OMe
Options:-

.1, Option ID :- 637,
- 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

GET IT ON
Google Play

Question ID:- 161

Which of these compounds is least acidic ?
(1) Carbolic acid

(2) Oxalic acid

(3) Phthalic acid

(4) Picric acid

Tre=ifra § @ =F o1 9 Tad FH Seg B e ?

(1) =RaEifas A7
(2) sirfes 3Fa
3) Ofas

(4) Tyl st

Options:-
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« 2, Option ID :-
. 3, Option ID :-

« 4, Option ID :-
Answer Given:-

.1, Option ID :- 641,

642,
643,
644,

1, Option ID : -641

GET IT ON
Google Play

Question ID:- 162

(1)
cl
2)
CH,Cl
(3)
(4)

NO,

Which of these has the shortest C—Cl bond length ?

T
¢l
CH,

CH, ~ CH,Cl
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fr=ifera § | forad C —C1 29 =i daE 3Ae9a9 BT & 7

ik
C—cl
(1) CH,
Cl
CH,CI

CH,~CH,Cl
(4) ;
NO,

Options:-

.1, Option ID :- 645,
- 2, Option ID :- 646,
« 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163
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The dehydration product X' of the given compound

CH3 H
I !X!
H OH - HZO
CH3
1507
CHS
.
CH3
CH,
(2)
H
CHS

H
@
CH,

= feu o <ifies &1 FSieie 3| X P e ?

CH, H
lef
H OH —Hzo’
CH,
CH,
D g
CH,
CH,
2
CH,
CH
(3) 9 CH,
H
CH
(4) g
CH,
Options:-

.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,
. 4, Option ID :- 652,
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Answer Given:- 1, Option ID : -649

Question ID:- 164

The product of the acid catalysed hydration of 2-phenyl propene is :
(1) 3-phenyl propan-2-ol
(2) 2-phenyl propan-2-ol
(3) 1-phenyl propan-2-ol
(4)

4)  2-phenyl propan-1-ol

2- fRATEe Ui % 3776 SSIfd STais 1 38§
(1) 3- formEa 9iE -2- 3|
(2) 2- FFEa g -2- 3i|
(3) 1- frme 9reF 2- i
(4) 2-TorEe 9riH -1- 37

Options:-

.1, Option ID :- 653,
. 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Which of the following compounds will not undergo nucleophilic attack by a hydroxyl group ?
(1) Ethyl benzoate

(2) Diethyl ether

(3) Acetonitrile
(4)

4 Benzamide

frifera & O for iffreril W Teifoaa agg 1 e s = 2 2

(1) 39Ea S

(2) SE-3UEE g2

(3) TUHIEHRZE

(4) WSMES
Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
. 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166
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Which of the following is the strongest base ?

o©

_—
f—
S

NO,

.
2
—

OCH,

.

o)
0]
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Freifra § 9 i 9ol voe &R &2

NO,

OCH,

(4)

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Which of the these reactions is used to step up the number of carbons in the chain ?
(1) Hofmann-Bromamide reaction.

(2) Hydroboration-oxidation.

(3) Stephen reaction.
(4)

4 Gatterman- Koch reaction.
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gEdl H HTeA i 9&A ggM | fFeifehd J § % | sAfufsrn wge g § 2
(1) BHEE - SHEEs A

(2) BESENEA - 3TFIH

(3) FrwA stfufswa

(4) TEHE Hig AR

Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Consider the fo]]owing reaction :

()
Il H, -
= C=C by Baso,
P is ;
(1) CH,CH,4
(2) CH,CH,OH
(3) CH,CHO
(4 CH,CH,CI
fr=ifera sifufern W fa=r #ife .
(@)
II H2 I'P.r
CH,—C—Cl ———>
3 Pd-BaSO,
_E!?Hﬁ P ZET -
(1) CH,CH,
(2) CH,CH,OH
(3) CH,CHO
(4) CH,CH,CI
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169
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The reaction of benzaldehyde with semicarbazide hydrochloride is an example of :
(1) Nucleophilic substitution reaction.

(2) Nucleophilic addition reaction.
(3) Elimination reaction.
(4) Electrophilic addition followed by elimination.

Irfireoee SRElEREE & Y Sufceere #I afufFn fFe=ifea § 9 frge e 32
) ArfeRert wfaeergs sifufsan

2)  AIfWEREl Hsie sAffeRa

) TrevmE (feeim) srfafsen

) YA s (Haed) & a1g frEE

Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

In the given sequence of reactions :

C")
Me /Ether CH, — C— OCH,CH
o H Br B/ Ether, T 2 5 B
'B'is:
CI)H
CH,CH,
Cl)H
CH,CH,
CI)H
@ LGy
CH,CH,
OH

I
(4 CHz— (|3 — OCH,CH,4

CH,CH,
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fretifera aiffsran % o #, @19 C H_Br Mg/

»> B
HB¥:
OH
(1) CHy— (:Z— CH,CHj,
CH,CH,
OH
(2) CH3CH,— (:: — CH,CH,4
CH,CH,
CI.)H
(3 CHy— (l: —CH
CH,CH,
(|)H
(4 CH;— (II —OCH,CH,
CH,CH,
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
« 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Assertion (A) : Aromatic aldehydes do not respond to Fehling's reagent test.
Reason (R) : Aromatic aldehydes are not easily oxidized.

(1) (A) and (R) both are correct and (R) is the correct explaination of (A).
(2) (A) and (R) both are correct but (R) is not the correct explaination of (A).
(3) (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.

stfireRe (A) : THfes tfesere Wi sifierds hem w wfafwa 78 w3 )
WHIT (R) : wWifes tfeesre 1 A ¥ ST 78 8 T

(1) (A) 3R (R) a1 ®&l & 3iR (R) (A) 1 6l = 7

(2) (A) 3 (R) T HE € 3R (R) (A) T HEl =men & 2

(3) (A) WEl € fohg (R) Tod B

(4) (A) 7T € b (R) WETE

Options:-
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.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172

The number of ether isomers possible for a compound with molecular formula C;H,,O would be :
1 2
(2)
(3) 4
(4)

aT1fves g3 C,H,,O amel Aifitek & fofas Sor 81 &t G ¢

(1) 2
(2) 3
(3) 4
(4 5
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

An organic compound has the molecular formula C;H{N. The number of isomers which will give
a positive carbylamine test would be :

1) 2
(2 3
(3) 4
4 5

et wraifres ifire = enfoaes g3 C,H N T, @ Feise tHRd e fme gmeee (eredmd) o
FRRIHEF T 2 2

(1 2
2y B
(3) 4
(4 5
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

GET IT ON
Google Play

Question ID:- 174
Consider the following reaction :
SO,Cl
A+ —— N - alkyl benzene sulphonamide

'A' could be :

Aniline

N.N-diethyl amine
N-Methyl methanamine

I =
g

= 2
B

Methanamine

Tr=ifera sifufsren w fa=m #ifsu ;
S0,Cl
A+ —— % N - ToHEd a9 GehAHES

T8l 'A' FrAiferd § 9 =N 8 wFar g ?
(1) AT

(2) N.N - SE-39Ed TARA
(3) N - fReusa fagarmE
(4) REAMEA

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175
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Options:-

. 3, Option ID

Answer Given

. 4, Option ID :-

Which of these amines can be prepared by Gabriel phthalimide synthesis ?

CH,NH,

NH,

NHCH,

N — CH,

Tifgua damEs Gyayu gr f=ifera & § 4 91 UHEA 939R & s g g 2

CH,NH,

\

NH,

NHCH,

CH,
|
N—CH,

.1, Option ID :- 697,
« 2, Option ID :-

698,
- 699,

700,
:- 1, Option ID : -697

GET IT ON
Google Play

Question ID:-

176
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Maltose has linkage between :

(1) G of 0-Glucose and C, of B-Glucose.
(2) C; of B-Glucose and C; of B-Glucose.
(3) C, of o-Glucose and C, of a-Glucose.
(4) C; of a-Glucose and C, of B-Glucose.

-9 (HeRr®) H it § fhaeh 9% "eayd gl § 2
(1) o7 F1 C, 3 p-TEHS H1 C,

(2) BRI H C; SR P-TIHIS H1 C,

(3) o-TEHS F C; R o—TIHS A C,

(4)  o-THIN T C; S P-TTHIS Fl C,

Options:-

.1, Option ID :- 701,

« 2, Option ID :- 702,

. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

GET IT ON
Google Play

Question ID:- 177

Which of these is a constituent of the cell wall of plant cells ?
(1) Nucleotides

(2) Proteins
(3) Cellulose
(4) Starch

fa=ifera § 9 == Uy vt F Fifve fust = e o= 82

(1) —frsiess

(2) 9reH

(3) HegeH

(4) wWH
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 3, Option ID : -707

Question ID:- 178
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Which of these amino acids does not have any chiral centres ?

(1) Lysine
(2) Cysteine
(3) Glycine
(4) Tyrosine

Freifera & 4 forg wiFT 2t o et g TRl B0 B 2

(1) =mEfaq
(2) ToemEA
(3) TeIrsfEd
(4) et
Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

GET IT ON
Google Play

Question ID:- 179

Which is NOT an essential amino acid ?
(1) Aspartic acid

(2) Lysine

(3) Arginine

(4) Methionine

TreifeRa | 1 =1 S{famd T o7 6 o
(1) T e

(2) @mEfER

(3) TS

(4) TafeRTE
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180
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RNA does not contain :

(1) Adenine
(2) Guanine
(3) Uracil

(4) Thymine

AR o (9. T, U,) H frifera § 4 o ofafde 7& S e ?

(1) ufe
(2) TEFEA
(3) Fifaa
(4) oEH
Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
« 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 4, Option ID : -720

GET IT ON
Google Play
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Exam date : 18.02.2023

Qno Question Description

key

KVS RECURITMENT EXAM 2022

Provisional Answer Keys

Exam Shift : Morning

Qno Question Description

key

GET IT ON
Google Play

Post : PGT

Qno Question Description

key

001 General English

002 General English

003 General English

004 General English

005 General English

006 General English

007 General English

008 General English

009 General English

010 General English

011 General Hindi

012 General Hindi

013 General Hindi

014 General Hindi

015 General Hindi

016 General Hindi

017 General Hindi

018 General Hindi

019 General Hindi

020 General Hindi

021 General Awareness& Current Affairs
022 General Awareness& Current Affairs
023 General Awareness& Current Affairs
024 General Awareness& Current Affairs
025 General Awareness& Current Affairs
026 General Awareness& Current Affairs
027 General Awareness& Current Affairs
028 General Awareness& Current Affairs
029 General Awareness& Current Affairs
030 General Awareness& Current Affairs
031 Reasoning Ability

032 Reasoning Ability

033 Reasoning Ability

034 Reasoning Ability

035 Reasoning Ability

036 Computer Literacy

037 Computer Literacy

038 Computer Literacy

039 Computer Literacy

040 Computer Literacy

041 Understanding the Learner

042 Understanding the Learner

043 Understanding the Learner

044 Understanding the Learner

045 Understanding the Learner

046 Understanding the Learner

047 Understanding the Learner

048 Understanding the Learner

049 Understanding the Learner

050 Understanding the Learner

051 Understanding the Learner

= W WWN=2WW =2 WODNWWEABAMNMN=_22=2DMNMNDNNOORAOPARAOPRAPANMNPERADNPAERLRAOODNMDMNMPARAEAEBREWODNMNDMNMDMNDNDOODNWWRAW

052 Understanding the Learner

053 Understanding the Learner

054 Understanding the Learner

055 Understanding the Learner

056 Understanding Teaching Learning
057 Understanding Teaching Learning
058 Understanding Teaching Learning
059 Understanding Teaching Learning
060 Understanding Teaching Learning
061 Understanding Teaching Learning
062 Understanding Teaching Learning
063 Understanding Teaching Learning
064 Understanding Teaching Learning
065 Understanding Teaching Learning
066 Understanding Teaching Learning
067 Understanding Teaching Learning
068 Understanding Teaching Learning
069 Understanding Teaching Learning
070 Understanding Teaching Learning

071 Creating Conducive Learning Env. Etc.
072 Creating Conducive Learing Env. Etc.
073 Creating Conducive Learning Env. Etc.
074 Creating Conducive Learing Env. Etc.
075 Creating Conducive Learning Env. Etc.
076 Creating Conducive Learning Env. Etc.
077 Creating Conducive Learning Env. Etc.
078 Creating Conducive Learning Env. Etc.
079 Creating Conducive Learning Env. Etc.
080 Creating Conducive Learning Env. Etc.

081 CHEMISTRY
082 CHEMISTRY
083 CHEMISTRY
084 CHEMISTRY
085 CHEMISTRY
086 CHEMISTRY
087 CHEMISTRY
088 CHEMISTRY
089 CHEMISTRY
090 CHEMISTRY
091 CHEMISTRY
092 CHEMISTRY
093 CHEMISTRY
094 CHEMISTRY
095 CHEMISTRY
096 CHEMISTRY
097 CHEMISTRY
098 CHEMISTRY
099 CHEMISTRY
100 CHEMISTRY
101 CHEMISTRY
102 CHEMISTRY

AN PR =2 OOPRAR=_20=_2DN=2 2D O0OR=2AaDN_22O0BRODN_2DNMNDMNMNO =220 OPRADNBAEADNODMNMNN_2OORAAPRPRANO_2ADREAA

103 CHEMISTRY
104 CHEMISTRY
105 CHEMISTRY
106 CHEMISTRY
107 CHEMISTRY
108 CHEMISTRY
109 CHEMISTRY
110 CHEMISTRY
111 CHEMISTRY
112 CHEMISTRY
113 CHEMISTRY
114 CHEMISTRY
115 CHEMISTRY
116 CHEMISTRY
117 CHEMISTRY
118 CHEMISTRY
119 CHEMISTRY
120 CHEMISTRY
121 CHEMISTRY
122 CHEMISTRY
123 CHEMISTRY
124 CHEMISTRY
125 CHEMISTRY
126 CHEMISTRY
127 CHEMISTRY
128 CHEMISTRY
129 CHEMISTRY
130 CHEMISTRY
131 CHEMISTRY
132 CHEMISTRY
133 CHEMISTRY
134 CHEMISTRY
135 CHEMISTRY
136 CHEMISTRY
137 CHEMISTRY
138 CHEMISTRY
139 CHEMISTRY
140 CHEMISTRY
141 CHEMISTRY
142 CHEMISTRY
143 CHEMISTRY
144 CHEMISTRY
145 CHEMISTRY
146 CHEMISTRY
147 CHEMISTRY
148 CHEMISTRY
149 CHEMISTRY
150 CHEMISTRY
151 CHEMISTRY
152 CHEMISTRY
153 CHEMISTRY

Page 1

W =B A =a2DMNDNPARA=2DNDNDNN=2BABBADN=_2BADMNMADMNMDNN2OORA=_2DBAPRAOPRARERSA2AOW=20=_2DNDNOOW=_20RPAWwW=_2A0=2000r_20-
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KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Exam date : 18.02.2023 Exam Shift : Morning Post : PGT

Qno Question Description key | Qno Question Description key | Qno Question Description key
154 CHEMISTRY 3 105 HISTORY 4 156 HISTORY 2
155 CHEMISTRY 1 106 HISTORY 2 157 HISTORY 4
156 CHEMISTRY 4 107 HISTORY 4 158 HISTORY 3
157 CHEMISTRY 2 108 HISTORY 2 159 HISTORY 3
158 CHEMISTRY 3 109 HISTORY 4 160 HISTORY 2
159 CHEMISTRY 3 110 HISTORY 3 161 HISTORY 2
160 CHEMISTRY 3 111 HISTORY DROP| 162 HISTORY 4
161 CHEMISTRY 1 112 HISTORY 1 163 HISTORY 4
162 CHEMISTRY 2 113 HISTORY 1 164 HISTORY 4
163 CHEMISTRY 1 114 HISTORY 3 165 HISTORY 2
164 CHEMISTRY 2 115 HISTORY 1 166 HISTORY 2
165 CHEMISTRY 2 116 HISTORY 3 167 HISTORY 3
166 CHEMISTRY 2 117 HISTORY 4 168 HISTORY 4
167 CHEMISTRY 4 118 HISTORY 3 169 HISTORY 1
168 CHEMISTRY 3 119 HISTORY 4 170 HISTORY 2
169 CHEMISTRY 2 120 HISTORY 3 171 HISTORY 1
170 CHEMISTRY 1 121 HISTORY 4 172 HISTORY 1
171 CHEMISTRY 1 122 HISTORY 3 173 HISTORY 4
172 CHEMISTRY 2 123 HISTORY 4 174 HISTORY 1
173 CHEMISTRY 3 124 HISTORY 2 175 HISTORY 3
174 CHEMISTRY 4 125 HISTORY 1 176 HISTORY 3
175 CHEMISTRY 1 126 HISTORY 1 177 HISTORY 2
176 CHEMISTRY 3 127 HISTORY 1 178 HISTORY 4
177 CHEMISTRY 3 128 HISTORY 4 179 HISTORY 1
178 CHEMISTRY 3 129 HISTORY 2 180 HISTORY 1
179 CHEMISTRY 1 130 HISTORY 3

180 CHEMISTRY 4 131 HISTORY 1

081 HISTORY 1 132 HISTORY 4

082 HISTORY 1 133 HISTORY 3

083 HISTORY 2 134 HISTORY 3

084 HISTORY 4 135 HISTORY 3

085 HISTORY 1 136 HISTORY 1

086 HISTORY 3 137 HISTORY 3

087 HISTORY 2 138 HISTORY 3

088 HISTORY 4 139 HISTORY 2
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